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CHE-6 : ORGANIC REACTION MECHANISM 
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Note : Answer any five questions. All questions carry equal 
marks. 

	

1. 	(a) Why is iodide ion a good nuecleophile but a 	2 
weak base ? 

(b) A compound X on reductive ozonolysis 	4 
gives ethanol and propanone. Identify X 

and give the mechanism, 

(c) What are Nitrenes ? Discuss its structure 	4 
and stability. 

	

2. 	(a) Explain the term "Isotopic labelling" 	2 
(b) What are free radicals ? Describe the free 	4 

radical mechanism for the reaction. 

CH4  +C /2 --->hv  CH3C/+HCI 
(c) Compare the relative rate of hydration of 

1H \ 
methanal H  / C= 0  and propanone 

((CH3)2  C=0). Give reasons in support of 
your answer. 

4 
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3. 	(a) Outline the mechanism of ester hydrolysis 	4 

by AAC2 mechanism. 

(b) Give mechanism of any two of the following 	6 

reactions 

(i) Aldol condensation 

(ii) Hofman rearrangement 

(iii) Micheal addition. 

	

4. 	(a) In aromatic substitution reaction the methyl 	3 

group is ortho and para directing while nitro 

group is meta directing ? Give reasons in 

support of your answer. 

(b) Define saytzetff rule. Illustrate with 	3 

examples the direction of orientation in E2  

reactions governing this rule. 

(c) What are pericyclic reactions. Discuss their 	4 
three main types with an equation for each. 

	

5. 	(a) With reference to electrophilic substitution 	2 
arrange the reactivity order of Furan, 

Benzene, Thiophene, Pyrole. 

(b) Give one example for any four of the 	4 
following : 

(i) Acid dye 

(ii) Analgesic 

(iii) Antibacterial agent 

(iv) Antibiotic 

(v) Xanthene dye 

CHE-6 	 2 



(c) How are the following conversions carried 	4 
out ? (Any Two) 

(i) Ethyl alcohol to acetic acid 

(ii) Propy] chloride to propyl bromide 

(iii) Propene to propane 

(iv) 1- Butyl chloride to 1 - butene 

6. 	(a) Give 3 characteristics which distinguish E1 	3 
and E2  elimination reactions. 

(b) Taking a suitable example discuss the 	4 
mechanism of Memo Buchi reaction. 

(c) Complete any three of the following 	3 
reactions : 

OH 	 OH 

(i)  0 0 

(ii) CH3CHBrCH2CH3 A/c. KOH 	? 4  

(Major Product) 

(iii) I I  I I S03/Pyridine 
►  

(iv) CH3CHO+CH3CHO  Aq. NaOH  ? 
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7. 	(a) Draw the structure of singlet and triplet. 	3 
state of carbene. Discuss its stability. 

(b) Give the name of the monomers and their 	3 
structure to prepare the following polymers 
(Any Three) 

(i) Bakelite 

(ii) Nylon 

(iii) Terylene 

(iv) PVC 

(c) Describe any one of the reaction with its 
mechanism 

(i) Cannizaro reaction 

(ii) Claisen condensation 

	

8. 	(a) Write short note on any two of the 	6 
following: 

(i) Wagner - Meewein rearragement 

(ii) Benzil - Benzilic acid rearrangement 

(iii) Curtius rearrangement 

(b) What is Norrish type I reaction ? Explain 	4 
with suitable example. 
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